uj

e
£% )
20 14
POWERED BY '1 NEE 88
4 \ O, ) =
73.94" MAX. FRAME WIDTH - Glie £ ;‘ . 2
1 o NEREE
[ Y (o] [+ It %
® ." 5 O g % "E) % o
\ ey > G n
DOOR COMPONENTS MADE IN THE USA LRSS I 384 @
] | Uy PROFESSL Z2od &
Lo o &
[©] 5 Z
Zm, O
= cé ©
BRod £
3
o
:

Glazed Fiberglass Door

"NON-IMPACT"

Documents Prepared By

CERTIFICATE OF REGISTRATION # F-—11852

18] ] %]
INSWING / OUTSWING is <= 55
&z 2 h=
<5 23 i
2= i3 < | 8%
i &E S |y5S
=8 == S | o
SE =Y E e
B < g Ji
3 S| &on
8l |g~¢¥
EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ DR - 1 02 1 & £
The Fiberglass Door system described herein complies with the 2018 International @i
Residential Code {IRC), Sections R301 & Ré09 and the 2018 Infernational Building e
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following w
conditions: §

1. Anchors shall be as listed and spaced as shown in the details. Anchor o
embedment to base material shall be beyond wall dressing or stucco. %

2. When used in areas requiring wind-borne debris protection this product is 8 2
required to be protected with an impact resistant covering that complies © 8
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. 'é >

3. Allowable design pressure requirements must be equal fo or less than the ol I
design pressure rating shown in the design pressure chart, sheet 1 of this :

4. drawing. <
Conditions not covered by this drawing are subject to further engineering §
analysis. =

Sl
TABLE OF CONTENTS N LD“(
SHEET# | DESCRIPTION -
1 Typical elevations, design pressures & general notes XX FLUSH GLAZED INSWING "5 50.0 - 550 e 55. 0 - 55.0 + 60. O - 6 50 - %
2 Astragal details {Ultimate Flip Lever) DATE: 11 /8 / 18
3 Astragal details {Ultimate Multi-point) XX FLUSH GLAZED OUTSW,NG +50.0 _50.0 +65.o '65-0 +55.0 _55.0 SCALE: N.T.S
4 Astragal details {Ultimate Huricane) e
5 Door panel details (flush glazing} DWG. BY: MT
6 Horizontal cross sections CHK. BY: LFS
7 Vertical cross sections DRAWING NO.:
8 Frame anchoring T™X—4912

SHEET _1 oF _ 8

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

@ 2018 R.W. BUILDING DONSULTANTS IND.



"ON] SINVLINSNOD aNIaTIing ‘M’ 8102 O

VALS SNOISIATY
- 1411830 -
SEAINIoNS VNOBRIOUL o Gvon S (43727 dnd 3lvHiLin) | 3N ToN| | | |, |
S41| 3000 0di/08l 810z OL 3ivadn|iz/oit/iL] L |T|vls|n]
£616°659°CLE FON ouOUd "KTEN3SSY 90 Luvd =17 28
SBGEE 14 OOMIPA O€Z Xo8 ‘O'd \Eug. = g ¥
*ONI ‘SINVLIINSNOD ONIaTING ~- 5|z M vm 2_
CZIvOL# 3'd SVXIL VaNAN3 ] M S| W b
‘T'd IPIUIYDS ‘4 uopuky :Ag peJpdedd sjuswinosoQ 110NaoNd 518 W m & w
V7%
.,?3&WHH#
o ov/r...... ;
ER e RN S
Sl o 75 % WOLLO8 .
5 L Cly %Y in
LGyt 0r 1€%
o vag é “egy -Dt.\ N~
55y os g o, O «
Zai 2AhATE —
w“.w %\aﬂa ...“ﬁﬂmwwm% .—.@- —
».«N .wu\... <& *® ..hL
St Y Kos
ﬁw& RN i *
Ui )| &
f:] \%
o S5 _ 81 _
- ™~ ™~ m u H —
o - < g ]
11 3 c
P2 h S S
25 | S
(32 I %
[ N «
" 3 » S
[ N . O
£ & 3 O
(=) <2 T = 2
g | & S
=
<
o
O
R
5 .
R g 3 S9
NS}
(73]
[+°4
@]
€I
@]
Z
<
R
it =
~ v
@ * [} [l m\.w
] b & = z
' a4 F
- W& m nAm
w3 ]
ST 28 3 =
O o]
dol 5 0O = >
2 A E x
2 o0 =& &
= O & 0
o = = =
5 E a
g & 2 4
S S
2=
(%] o >
: g ;2
: . O v, oL
Nw O
=0 3 ‘A
~ % w
> =
o= x
3k mnb -
o~ =
SN uM t \ // A
/ © @)
= <
~ o’
7 >
~O
23
& 5 2
/1 —a— £ O
,.«.e..w." L &/ X d (4 ] N —l—vuu_
e ] P —
R
: =
2 ° a
£ E P <
2 2 5 =
£ =
1 m —
g 3 =
kY -
2]
3 N S

BmpsLpL2L L Lep-X1\sButmeld - D\(SL6v-0L6Y) 100p DA oidiseld 719 Ysnid LZOL-¥a - IQL\sU} JO 1deq sexal - G\LNINVINYId BINPUT\SIUSID\Z



CON| SINVLTINSNGODL aNIaing "M'd gLoz @

SNOISIATY
Z2S8LLi—d4 # NOUVMISIOZN 40 ILVOIJIUN3D _ -
SHFANIONI VNOISSZH0dd 40 auvosa SvXalL Qz\mo_ﬂ\&m:ﬁ%&:mﬁ:v Ad 31v3 [ON}eo| . ol o 8_
el . S41| 3000 2uI/0dl gioz ol Iivadnliz/oi/ii] L |T|nlS|w] 2
L616°689°CLE PON suoUd SN ESS ONE =R o s
GBGEE Tid OJUIDA QEZ x0g °O'd \N\M..@ AN N P <+
"ONI “SINVLINSNOD ONIGING - NI 3_
—| |E|5lg X
£TLYOLF ‘3'd SVXAL VeNan3 i M w ¥ w m
“F'd ‘IPILIYOS 4 uopukl] Ag pedodeuy sjuswnoog :19NA0Hd SIG1B8I&1% 5
WOLLOg i
* N~
° £
bﬁ 5
O
H —r
of & o)
il g
.m.U. I
el
o~ QO
I < o) : 8.1 |
~ @ ~
3 i Q _ =
E - —
= * K
[ N * N S
i > N S
i 5 | £ < 3 £
Q A
O
O
- —
R 5 2
N 59T
(7% )
24
o
I
O
pd
<
; |
in
N
: ] N~
= d £ . |
H 4. Lﬁlb
. s *
a (%]
Q
° Q Q %) =
e S g £ 2
. be &
oL v, 8 2
dOl 3 2 o £
- @ O O
S & Q <
8 = = =
-— (] o o =
< 8 = 5
s = = o
T E - 0
s £ 2
S ® S
5 - S
Q X
1 Q
& 2 Al
o W [
28 /> AN
p—— D N
=9 i .
> £ v VAN 1
o= r = — / \
2 ¢ B e\, ) <
=a .M m kY \ // G
/ o 0O <C
5 Q e
> an £ = AT\IV
(o] @
o2 E 2 g <
[
= ¢ 5 £ 5
M» ‘ 70— X _ T 0
& ) l! = ©
\ rmh\”.. \ &/ Y “@"V Y M’ m WV p—-l
Qe ¥ 7 T - D Fo—
£\~ : R
5 o _ . 5 =
< £ S B g
' ] o Pl — -
o o 2 = <
> pa 9 = M
> g = £ =
= 3 g 5 5
o ) S < )
e [oR
: > N /
Q
S . Lo\

BMPSLPL'ZL'L Ler-X1\sBumelq - D\(SL6Y-0L6Y) 100p D4 oidiseld Z19 Usnid L20L-Yd - IQL\SUI 30 wdag sexal - S\LNINVNYI 2inpua\siuald\z



4 Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915\C - Drawings\TX-4911,12,14,15.dwg

{2) #8 X 1-5/8" PFH
WOOD SCREWS

LOWER BOLT SLEEVE

(REINF. POLYMER)

ULTIMATE HURRICANE ASTRAGAL

(TRIM COVER REMOVED)

UPPER BOLT SLEEVE

(REINF. POLYMER)

(2) #8 X 1-5/8" PFH
WOOD SCREWS

N
o
2
o
<
PR R R TN

tyndon F. Schmidt, P.E
TEXAS P.E. #104123

BOTTOM

HARDWARE LOCATIONS

#8 X 3/4" PFH WS

BOLT RETAINERS #8 X 3"PFH WS
SLIDE BOLT ROD

ALUMINUM
ASTRAGAL

ALUMINUM ASTRAGAL ASSEMBLY

1.75" I

2.65"

0.063" —=|=—

S

LD

ULTIMATE HURRICANE ASTRAGAL

DEADBOLT STRIKE
PLATE

IZA LATCH STRIKE
7 PLATE
LATCH & DEADBOLT DETAIL

5"

_>} ‘_._o

BOLT RETAINER
(GFNYLON)

‘————+—|— 1.63"
T Qg

9.5" \/

]—*—- 0.32"

${

SLIDE BOLTROD

(STEEL)

—

P.O. Box 230 Valrico Fl. 33595

BUILDING CONSULTANTS, INC.
Phone No.: 813.659.9187

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

r
0
<O
g
= Ly O
S 1 oE
[ o <
=z = (.')E
i bl g%
9 BE
.. <)
e
2l B
0. 0.
w0
][
L
Q
<)
1s)
<)
@
S |»
@ Z
O
o @
sl 2
& Q'
e
=
S
a
>
N
s
=
NS
~lo
4
oate: 11/8/18
SCALE:  N.T.S.
DWG. BY: MT
CHK. BY: LFS
DRAWING NO.:
T™X—~4912

SHEET 4 oF 8

© 2018 R.W. BUILDING CONSULTANTS INC.



_ Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

0.66" —=-

— 0.78"

- 1.75" —]

INTERIOR

STILE CAP (PVC])

//.
4

STILE CAP (PVC)

WOOD STILE
REINFORCED WOOD
LOCK BLOCK
{20" HIGH)
35.75" MAX.
PANEL WIDTH
26.25" MAX
D.L.O. WIDTH E
5
[2°
8% I
oy <0
< =Y
<L B
sS@ a0
>y ™~
hZ *dH
™N o &
SN

PLASTPRO
Flushglazed
{Fiberglass)

EXTERIOR

/1" HORIZONTAL CROSS SECTION

N

1/2" GLASS
BITE

INTERIOR

;
\

WOOD STILE

/4

1/

EXTERIOR

GLAZING DETAIL
Fush Glazing

—  5/8" NOMINAL GLASS THK.

1/8" TEMPERED GLASS
AR SPACE

* ~P~—1/8" TEMPERED GLASS

SILICONE GLAZING
COMPOUND

FIBERGLASS SKIN
(0.075" MIN. THK.)

= I.tén
TOP RAIL 2 e "
3 o
PN g2 ¢ b8
h:ﬂ. z g El&
- SE®
3§ £33 35
o s €t £t 20
T gz 3 53506 0k
3 “2 o, 2> {
I‘;I ?gi -ﬁz >— t"??ﬁ% 53 © gg
" N & S0 &Y
o i
— TR
S 50
\ : £ 3 g gg
[ [
£ gg
L &K B
3
(73]
=
RS
g .o
> 5 oo
2 2 3::
& 3| o8
INTERIOR EXTERIOR 3 &z
T o 5l |38
8 (o]
o) E
& P
%
Lug
[
O
O
[&]
&
S o
FOAMCORE —._ P 26
o o |5
(POLYURETHANE ) N S é
¥/ 2
/4 B
y/ & S
/AR ~ 2
BOTTOM RAIL ot N
(PVC) N ——— SE
s - Na
] 5
z
- oAE: 11/8/18
. scale: N.T.S.
DWG. BY: MT
. CHK. BY: LFS
(2 VERTICAL CROSS SECTION SRAG 0
\5/ TX—4912

SHEET _5 oF _8

© zZO18 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

9/@

|1~ DEADBOLT: KWIKSET SIGNATURE SERIES
/ / (980/985)

/ /
4 N~ LATCH: KWIKSET SIGNATURE SERIES
/ / / (991)

CORNER PADS (TYP.)

[

174" MAX.

0.15"
SHIM SPACE e CSINK
EXT. SHEATHING 7 P

T

r— #10 X 2.5" PFH WOOD SCREW
Van

2X FRAMING

(G >=0.42) _\

— JAMB
ENDURA WEATHERSTRIP

(QEBD/PE 650)
EXTERIOR

N

DRYWALL /

—/ \- INTERIOR
#8 X 2.5" PFH WOOD SCREW #8 X 1" PFH SMS

#8 X 3/4" PFH SMS 4" HINGE

/1" HORIZONTAL CROSS SECTION
\U Inswing shown - Outswing also approved

— 2X FRAMING
i ><— (G >=0.42)

1y /
/ DRYWALL

EXT. SHEATHING \ i1
—— #10 X 2.5" PFH

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

WOOD SCREW
1/4" MAX. 1

SHIMSPACE  ~__fflLl

0.15"
C'SINK
(TYP.)

DOOR PANEL —\

ui

\- HEAD
ENDURA WEATHERSTRIP
(QEBD/PE 650}

EXTERIOR W INTERIOR

/~3 "\ VERTICAL CROSS SECTION
\U Outswing shown - inswing

also approved

ULTIMATE FLIP LEVER ASTRAGAL

ULTIMATE MULTIPOINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/— DOOR PANEL
\x\

ENDURA WEATHERSTRIP
(QEBD/PE 650)

A\

A

#8 X 3" PFH WS
#8 X 1"PFH WS

@ HORIZONTAL CROSS SECTION
6

P.0. Box 230 Valrico FlL. 33595
Phone No.: 813.859.8197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F—11852

»
25
<§

< =5
[v'd .. 2L|J
> =l Q»
S o Em
L zl SO
4 =2
- < o
k= o
§ o
o 3
o 0.
D>
Ll
L)
[
o
S
¢}
X
S o
@ (=
O
2 @
o
S @
2
o
iz
S
Q.
)
~
S
N
A
o
Zz

DATE: 11/8/18

scale:  N,T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:

TX—4912

SHEET 6 oF 8

@ 2018 R.W. BUILDING DONSULTANTS INO.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

A\ \\
INTERIOR EXTERIOR INTERIOR EXTERIOR
DOOR PANEL
L DOOR PANEL
ENDURA \
DOOR SWEEP ENDURA
(DBK-R) DOOR SWEEP
/3% / (DBK-ZAC) ¢ '
\__/

P

iR

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

1 INSWING ADJUSTABLE THRESHOLD

ZAIL4565

MAX. DESIGN PRESSURE = +50/-55 PSF

S /] DOOR PANEL
WEATHERSTRIP
(QEBD/PE 650),  INIERIOR EXTERIOR
ENDURA ™
m@ WEATHERSTRIP,  INTERIOR
@ (QEBD/PE 650)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION

w Inswing Arficulating Threshold
w/ Pin Capture

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR TW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/ 4"\ VERTICAL CROSS SECTION

\7/ Outswing Bump Threshold

\7_’/ Outswing Bump Threshold

A= i
; ! L =y
_ @ N ﬁ X
- | | . o
i 4.56“ I I 4.56" i 4_56" - [‘ 4-56" -
2 INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5 INSWING ADJUSTABLE THRESHOLD
ZAI4565FN IAILAA4565 ZAIAA4565FN ZAI4565RDS

MAX. DESIGN PRESSURE = +45/-50 PSF

MAX. DESIGN PRESSURE = +50/-55 PSF

MAX. DESIGN PRESSURE = +45/-50 PSF

MAX. DESIGN PRESSURE = £50 PSF

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

TEXAS BOARD OF PROFESSIONAL ENGINEERS
CERTIFICATE OF REGISTRATION # F—11852

Ry

Documents Prepared By:

ENDURA
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

LFS
BY

Lu}
[}
o
O
(6]
4
T- T_ S n
@ | Z
& S o 2
b’ = -| |0
— N - S E
* Hﬁ $ o
U ! U 1 l l B
456 , , 456 4.56 = . 4.56" | g
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD 8 INSWING ARTICULATING THRESHOLD 9 INSWING ARTICULATING THRESHOLD 10 INSWING ARTICULATING THRESHOLD 5
6 ZACL4565 7 ZAC4565FN ZACLAA4545 ZACAA4565FN IAC4565RDS i
MAX. DESIGN PRESSURE = +45/-50 PSF MAX. DESIGN PRESSURE = +45/-50 PSF MAX. DESIGN PRESSURE = +45 PSF g E
)
o
i EE A T AT RN ‘ e
< = = s batE: 11/8/18
* * * ! ?] SCALE: N.T. S.
L ‘ l ] l ‘ 1 DWG. BY: MT
L————— 456" l—~————— 456" . 4.56" : ' 4.56" ! cHk. BY:  LFS
N OUTSWING THRESHOLD 12 OUTSWING THRESHOLD 13 OUTSWING THRESHOLD 14 OUTSWING THRESHOLD DRAWING NO.:
10BL4565 7OB4565FN 7OB4565RDS FOB4566 TX—4912

MAX. DESIGN PRESSURE = +55 PSF

sHEET 7/ oF 8

@ 2018 R.W. BUILDING CONSULTANTS INC.



s 2X FRAMING (BY OTHERS) W
g S UZJ ¥ g 0
& 8 = ' . ‘%9 w9
<O ) o é" Astragal Strike Plate £* § Yw
3" (YR wu g 27
78 o . ,.} (TYP.) @ Head Jamb E i £ ; s & ]
| [~ v i ‘é 8 £33z
] T 1 T I T 1 P> [od g 50 558 a8
I i B X 3o e
Ed 1 DETAIL 1 N\ 5 883 g8
. — x ©
9 o & #10 X 2.5" PFH WS 3 28% 5.
0 = ] g 09 o
N il i = § 36858 "
DETAIL 1 a m§ §§
H ‘3 [
l % N s gg
3 sex2/2pws |E &R B
:5 1 - - §
15 i} @
" /. -
#8X 1 PFsté:. i 48 X 3/4" PFH WS
| - ~— 4" X 4" HINGE
\ 2
DETAIL2O0OR 3 o W T
L <z < o
3l % * sE HINGE DETAIL 1 g 1.3
it \ 4 2o 3 |3z
i | | \ S I
P #8 X 2-1/2" PFH WS 2 =
l I |
4'(Tve) #10 X 2.5" PFH WOOD SCREW 4:- o 3 o
1 J— I - [ - & " O o
4" (TYP.) _____l ~— 2 (1Y) 1/4" X 2-3/4" DeWALT OR #8 X 1"PFH WS i =. == #8 X 3/4" PFH WS & =
HINGE JAMB . ‘ ¢ ITW CONCRETE SCREW — 4" X 4" HINGE
(TYP @ SILL) \ Bl
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING v
CONCRETE {MIN. 3000 PSi) XX Ly
WOOD (G >=0.42) HINGE DETAIL 2 §
(]
% X
NOTE: These anchors required for D.P. > 50 PSF. § )
o |3
il
e
=
CONCRETE ANCHOR NOTES: ' o , 3/16" X 2-3/4' TW CONCRETE SCREW S
1. Concrete anchor locations at the corners may be adjusted to maintain the min. OR ASTRAGAL PIN CAPTURE )
edge distance to mortar joints. #8 X 3" PFH WOOD SCREW COMPONENT [UNDER CAP) N
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to S L
maintain the min. edge distance to mortar joints, additional concrete anchors ASTRAGAL STRIKE 1/2' DIA. HOLE IN CAP) NS
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. PLATE @ SILL \ ’ |
3. Concrete anchor table: o -2
 ANCHOR |  MIN. = [ 7 = | [ o 11/8/16
, NCHOPR Seuk:  N.T.S.
SO B S A AR P g b e L DWG' BY: MT
w1 3/1¢" 1-3/4" , - " ‘ cHk. BY:  LFS
TAPCON® [ 1/¢° 1-3/4° 1/2°DIA-HOLE pErap 2 DETAIL 2 DETAIL 3 DRANIG N
DeWALT " " ' " " Outswing Inswing Inswing _
ULTRACONE| 1/4 1-3/ 1 4 TX—4912
SHEET _8 oF _8

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

@ 2018 R.W, BUILDING CONSULTANTS INC.



